
ver1 2015

ENVIRONMENTAL PRODUCT DECLARATION
in ac cordance with ISO  14025 , ISO  21930  and EN  15804

O wner of the dec laration:

P rogram operator:

P ublisher:

Dec laration number:

Regis tration number:

EC O  P latform reference number:

Jotun A /S

T he Norwegian EP D Foundation 

T he Norwegian EP D Foundation

NEPD-2298-1049-EN

NEPD-2298-1049-EN

-

08.07.2020

08.07.2025

I s sue date:

V alid to:

Fenomastic Wonderwall Life, El-Mohandes Jotun S.A.E.

Jotun A/S

www.epd-norge.no

 1 / 8NEPD-2298-1049-EN Fenomastic Wonderwall Life, El-Mohandes Jotun S.A.E

http://www.epd-norge.no


General information
Product: Owner of the declaration:

Fenomas tic  Wonderwall L ife, E l-Mohandes  Jotun S.A .E .
Jotun A /S  
C ontac t person:  A nne L ill Gade
P hone: +47  33  45  70  00   
e-mail:   anne.lill.gade@jotun.no

Program operator: Manufacturer:

Jotun A /ST he Norwegian EP D Foundation 
P b. 5250 Majors tuen, 0303 O s lo 
P hone: +47 23 08 80 00

e-mail: post@epd-norge.no

Declaration number:

NEPD-2298-1049-EN

Place of production:

E l-Mohandes  Jotun S.A .E .
Indus trial A rea, I smailia
Egypt

ECO Platform reference number: Management system:

ISO  9001:2008  C ertific ate nr: 0044915-00 , ISO  14001:2004
C ertific ate nr 0044914-00 , ISO  45001: 2018  C ertific ate nr:
0098139

This declaration is based on Product Category Rules: Organisation no:

C EN Standard EN  15804:2012+A 1:2013  serves  as  core P C R.

IBU  P C R P art B for coatings  with organic  binders

923 248 579

Statement of liability: Issue date: 08.07.2020

T he owner of the dec laration shall be liable for the underlying 
information and evidence.  EP D Norway shall not be liable with 
respec t to manufac turer information, life c yc le as ses sment data 
and evidences .

Valid to: 08.07.2025

Declared unit: Year of study:

1  kg Fenomas tic  Wonderwall L ife, E l-Mohandes  Jotun S.A .E . 2020

Declared unit with option: Comparability:

A 1 ,A 2 ,A 3
EP D of cons truc tion produc ts  may not be comparable if they not 
comply with EN  15804  and seen in a building context.

Functional unit: Author of the Life Cycle Assessment:

T he dec laration is  developed us ing eEP D v4 .0  from LC A .no
A pproval: 
C ompany spec ific  data are:

C ollec ted/regis tered by: Ken Gudvangen

Internal verific ation by: A nne L ill Gade

Verification: Approved:

Independent verific ation of data, other environmental information
and the dec laration ac cording to ISO 14025:2010 , § 8 .1 .3  and §
8 .1 .4

External

T hird party verifier:

Sign

Senior Research Sc ientis t, A nne Rønning

(Independent verifier approved by EP D Norway)

Sign

 2 / 8

 
 
NEPD-2298-1049-EN Fenomastic Wonderwall Life, El-Mohandes Jotun S.A.E

mailto:post@epd-norge.no


Product description:

Fenomas tic  Wonderwall L ife is  a high-quality interior paint based on
pure ac rylic  emuls ion. I t c omes  with luxurious  s ilky finish that gives
you the colour you expec ted along with superior washability keeping
your walls  beautiful every day. Spec ially des igned for easy s tain
removal without affec ting the paint properties .

T he dec lared produc t is  spec ially des igned with formaldehyde
abatement technology that improves  indoor air quality and is  free
from harmful chemicals  like A P EO , formaldehyde. Heavy metals  are
not used as  ac tive ingredients .

Fenomas tic  Wonderwall L ife has  very low V O C  which ensures  good
indoor air quality, is  easy to apply and good coverage gives  an even,
beautiful surfaces . I t als o has  A nti-Bac terial and A ntiFungal
property. I t is  s trongly recommended for interiors  of high traffic
areas  such as  kids  rooms , Schools , party halls , Kitchens , living
rooms , dining rooms  etc .

Product specification

For information on Green Building Standard c redits , s ee "A dditional
Information" on page 4 .

T he material c ompos ition of the dec lared mixed produc t is  given
below:

Materials %
Water 25-50

Binder 10-25

Fil ler 10-25

Titanium dioxide 10-25

Additive 1-3

Solvent 0.3-1

Biocide <0.1

Pigment <0.1

Technical data:

Spec ific  gravity: 1 .43
Solids  by volume: 45  ± 2  volume%

Film thic kness  per coat:
Dry film thic kness  30  - 50  µm
Wet film thic kness  66  - 111  µm
Film thic kness  will vary and is  c alculated as  average.

T heoretic al spreading rate 15  - 9  m²/l

T he mos t representative and wors t c ase formulation produced at
the manufac turing s ite is  chosen for this  EP D. For produc ts  with a
selec tion of colours , this  will be the formulation with the highes t
content of titanium dioxide.

T he produc t packaging is  based on an average s ized metal
packaging, inc luding secondary packaging such as  pallets  and
plas tic  wrapping.

For safety, health and environmental c onditions , s ee the Safety
Data Sheet for the dec lared produc t on www.jotun.com.

For information on technical data, applic ation and use of the
produc t, s ee the Technical Data Sheet for the dec lared produc t on
www.jotun.com.

Market:

Global. Transport to market is  not inc luded in this  EP D.

Reference service life, product

T he reference servic e life of the produc t is  highly dependent on the
conditions  of use.

Estimated service life, object

T he coated objec t is  not dec lared.

Declared unit:

1  kg Fenomas tic  Wonderwall L ife, E l-Mohandes  Jotun S.A .E .

Cut-off criteria:

A ll major raw materials  and es sential energy is  inc luded. T he
produc tion proces s  for raw materials  and energy flows  with very
small amounts  (les s  than 0 .1  % dry matter) are not inc luded. In
total, more than 99% of the material input is  inc luded. T hese cut-off
c riteria do not apply for non-energy related emis s ions  (such as
was tes , hazardous  materials  and subs tances ).

Allocation:

T he allocation is  made in ac cordance with the provis ions  of EN
15804 . Incoming energy, water and was te produc tion in-house is
primarily allocated equally among all produc ts  through mass
allocation. Spec ific  allocation was  performed for c ertain was te flows
according to information provided by the s ite manager. V O C
emis s ions  have been allocated entirely to the produc tion of solvent
based paints . E ffec ts  of primary produc tion of recyc led materials  is
allocated to the main produc t in which the material was  used. T he
recyc ling proces s  and transportation of the material is  allocated to
this  analys is .

Product

LCA: Calculation rules

Data quality:

T he C EP E  database is  used as  bas is  for the raw material c ompos ition. Spec ific  data for the produc t compos ition and raw material amounts
has  been provided by the manufac turer and represents  the produc tion of the dec lared produc t. P roduc tion s ite data was  collec ted in 2015 .
Representative data from ecoinvent v3 .2  was  used for other proces ses . T he data quality for the material input in A 1  is  presented in tabular
form.

Materials Source Data quality Year
Additives CEPE RM Database v3.0 Database 2016

Binders and Resins CEPE RM Database v3.0 Database 2016

Others CEPE RM Database v3.0 Database 2016

Pigments and Fil lers CEPE RM Database v3.0 Database 2016

Solvents CEPE RM Database v3.0 Database 2016

Monomers and Precursors CEPE RM Database v3.0/Ecoinvent 3.2 Alloc Rec Database 2016

Packaging Østfoldforskning Database 2017

 3 / 8

 
 
NEPD-2298-1049-EN Fenomastic Wonderwall Life, El-Mohandes Jotun S.A.E



System boundary:

T he flowchart in the figure below illus trates  the sys tem boundaries  for the analys is , in ac cordance with the modular princ iple of EN  15804 .
T he analys is  is  a c radle-to-gate (A 1  - A 3 ) s tudy.

Additional information:

T he dec lared produc t contributes  to Green Building Standard c redits  by meeting the following spec ific  requirements :

LEED®v4  (2013)/ LEED®v4 .1  (2019): 
EQ  c redit: Low-emitting materials
- V O C  content for Nonflat C oatings  (Glos s>5  and <70  on 60  degree meter) (100  g/l) (C A RB(SC M)2007) and emis s ion les s  or equal to 0 .5
mg/m3 (C DP H method 1 .2 )
MR c redit: Building produc t dis c losure and optimization
- Material Ingredients , O ption 2 : Material Ingredient O ptimization, International A lternative C ompliance P ath - REA C H optimization: Fully
inventoried chemical ingredients  to 100  ppm and not containing subs tances  on the REA C H A uthorization lis t –  A nnex XIV, the Res tric tion
lis t –  A nnex XV I I  and the SV HC  candidate lis t.
- Environmental P roduc t Dec larations . P roduc t-spec ific  Type I I I  EP D (ISO  14025;21930 , EN  15804) for E l-Mohandes  Jotun S.A .E .
(Egypt).

BREEA M  International (2016):
- Hea 02: V O C  emis s ion ((ISO  16000-series  (2006) or C DP H method 1 .2  (2017)) and the V O C  content for Interior matt walls  and
ceilings  (10  g/l)
- Mat 01 : P roduc t-spec ific  Type I I I  EP D (ISO  14025;21930 , EN  15804) for E l-Mohandes  Jotun S.A .E . (Egypt).

A dditional c ertific ates  and approvals  may be available on reques t.

 4 / 8

 
 
NEPD-2298-1049-EN Fenomastic Wonderwall Life, El-Mohandes Jotun S.A.E



LCA: Scenarios and additional technical information
T he following information desc ribe the s cenarios  in the different modules  of the EP D.

T his  is  a c radle to gate (A 1-A 3) EP D with no dec lared modules  after the fac tory gate. Transport from place of produc tion to user (A 4) has
to be calculated by the user.

 5 / 8

 
 
NEPD-2298-1049-EN Fenomastic Wonderwall Life, El-Mohandes Jotun S.A.E



Product stage
Construction
installation

stage
User stage End of life stage .

Beyond the
system

bondaries

Parameter Unit A1 A2 A3

GWP kg CO2 -eq 2,38E+00 1,92E-01 5,13E-02

ODP kg CFC11 -eq 2,06E-07 3,66E-08 7,14E-09

POCP kg C2H4-eq 1,26E-03 5,80E-05 7,11E-04

AP kg SO2 -eq 1,50E-02 1,71E-03 3,51E-04

EP kg PO4
3- -eq 3,45E-03 2,78E-04 3,57E-05

ADPM kg Sb -eq 2,82E-05 2,80E-07 2,64E-08

ADPE MJ 3,54E+01 3,09E+00 7,87E-01

LCA: Results

System boundaries (X=included, MND=module not declared, MNR=module not relevant)

A1 A2 A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 . D

X X X MND MND MND MND MND MND MND MND MND MND MND MND MND . MND

Environmental impact

GWP Global warming potential; ODP Depletion potential of the stratospheric ozone layer; POCP Formation potential of tropospheric photochemical
oxidants; AP Acidification potential of land and water; EP Eutrophication potential; ADPM Abiotic depletion potential for non fossil resources; ADPE
Abiotic depletion potential for fossil resources

Reading example: 9,0 E-03 = 9,0*10-3 = 0,009 
*INA  Indicator Not Assessed

R
aw

m
at

er
ia

ls

Tr
an

sp
or

t

M
an

uf
ac

tu
rin

g

Tr
an

sp
or

t

As
se

m
bl

y

U
se

M
ai

nt
en

an
ce

R
ep

ai
r

R
ep

la
ce

m
en

t

R
ef

ur
bi

sh
m

en
t

O
pe

ra
tio

na
l

en
er

gy
us

e

O
pe

ra
tio

na
l

wa
te

r u
se

D
e-

co
ns

tr
uc

tio
n

de
m

ol
iti

on

Tr
an

sp
or

t

W
as

te
pr

oc
es

si
ng

D
is

po
sa

l

R
eu

se
-R

ec
ov

er
y-

R
ec

yc
lin

g-
po

te
nt

ia
l

 6 / 8

 
 
NEPD-2298-1049-EN Fenomastic Wonderwall Life, El-Mohandes Jotun S.A.E



Parameter Unit A1 A2 A3

RPEE MJ 2,65E+00 4,73E-02 2,60E-03

RPEM MJ 5,86E-01 1,27E-02 4,67E-04

TPE MJ 3,24E+00 6,01E-02 3,06E-03

NRPE MJ 3,86E+01 3,15E+00 7,93E-01

NRPM MJ 0,00E+00 0,00E+00 0,00E+00

TRPE MJ 3,86E+01 3,15E+00 7,93E-01

SM kg 0,00E+00 0,00E+00 0,00E+00

RSF MJ 0,00E+00 0,00E+00 0,00E+00

NRSF MJ 0,00E+00 0,00E+00 0,00E+00

W m3 4,20E-02 6,39E-04 1,23E-04

Parameter Unit A1 A2 A3

HW kg 3,75E-05 1,68E-06 1,84E-04

NHW kg 1,63E+00 2,15E-01 2,30E-03

RW kg INA* INA* INA*

Parameter Unit A1 A2 A3

CR kg 0,00E+00 0,00E+00 0,00E+00

MR kg 0,00E+00 0,00E+00 1,13E-05

MER kg 0,00E+00 0,00E+00 2,81E-05

EEE MJ INA* INA* INA*

ETE MJ INA* INA* INA*

Resource use

RPEE Renewable primary energy resources used as energy carrier; RPEM Renewable primary energy resources used as raw materials; TPE Total use
of renewable primary energy resources; NRPE Non renewable primary energy resources used as energy carrier; NRPM Non renewable primary energy
resources used as materials; TRPE Total use of non renewable primary energy resources; SM Use of secondary materials; RSF Use of renewable
secondary fuels; NRSF Use of non renewable secondary fuels; W Use of net fresh water

Reading example: 9,0 E-03 = 9,0*10-3 = 0,009 
*INA  Indicator Not Assessed

End of life - Waste

HW Hazardous waste disposed; NHW Non hazardous waste disposed; RW Radioactive waste disposed

Reading example: 9,0 E-03 = 9,0*10-3 = 0,009 
*INA  Indicator Not Assessed

End of life - Output flow

CR Components for reuse; MR Materials for recycling; MER Materials for energy recovery; EEE Exported electric energy; ETE Exported thermal
energy

Reading example: 9,0 E-03 = 9,0*10-3 = 0,009 
*INA  Indicator Not Assessed

 7 / 8

 
 
NEPD-2298-1049-EN Fenomastic Wonderwall Life, El-Mohandes Jotun S.A.E



Additional requirements

Greenhouse gas emissions from the use of electricity in the manufacturing phase

National produc tion mix from import, low voltage (produc tion of transmis s ion lines , in addition to direc t emis s ions  and los ses  in grid) of
applied elec tric ity for the manufac turing proces s  (A 3).

Electricity mix Data source Amount Unit
Electricity, Egypt (kWh) ecoinvent 3.3 Alloc Rec 1113,82 g CO2-ekv/kWh

Dangerous substances

T he produc t contains  no subs tances  given by the REA C H C andidate lis t.

Indoor environment

T he dec lared produc t is  emis s ion tes ted by RISE  Research Ins titutes  of Sweden/SP  Technical Research Ins titute of Sweden or Eurofins  in 
ac cordance with C alifornia Department of P ublic  Health (C DP H) Standard Method v1 .2–2017 .

Bibliography
ISO  14025:2010  Environmental labels  and dec larations  - Type I I I  environmental dec larations  - P rinc iples  and procedures .
ISO  14044:2006  Environmental management - L ife c yc le as ses sment - Requirements  and guidelines .
EN  15804:2012+A 1:2013  Environmental produc t dec laration - C ore rules  for the produc t category of cons truc tion produc ts .
ISO  21930:2017  Sus tainability in buildings  and c ivil engineering works  - C ore rules  for environmental produc t dec larations  of 
cons truc tion produc ts .
IBU  P C R P art B: Requirements  on the EP D for C oatings  with organic  binders . v1 .4 , September 2016 .
V old et al (2017). EP D and LC A  tool for Jotun - Technical des c ription and background information, O R 01 .17 , O s tfold Research, 
Fredriks tad 2017 .
C EP E  v3 .0  Raw materials  LC I  database for the European coatings  and printing ink indus tries , May 2016 .
ecoinvent v3 .2  A lloc  Rec , Swis s  C entre of L ife C yc le Inventories .
BREEA M International (2016): BREEA M International New C ons truc tion Technical Manual. SD233-2 .0 :2017
C A RB SC M  (2007). C alifornia A ir Resources  Board (A RB) Sugges ted C ontrol Measure for A rchitec tural C oatings
C DP H method 1 .2  (2017): Standard method for the tes ting and evaluation of volatile organic  chemical emis s ions  from indoor sources .
C alifornia Department of P ublic  Health
EU  Direc tive 2004/42/C E: T he limitation of emis s ions  of volatile organic  compounds  due to the use of organic  solvents  in certain paints
and varnishes  and vehic le refinishing produc ts
ISO  16000-series  of indoor air s tandards  for V O C s  sampling and determination, i.e. 3 , 6 (2011); 9 , 10 , 11 (2006)
LEED®v4 .1  (2019): LEED®v4 .1  for Building des ign and cons truc tion, U .S. Green Building C ounc il®
LEED® v4(2013): LEED® v4  for Building des ign and cons truc tion, U .S. Green Building C ounc il®
REA C H (2006): Regulation (EC ) No 1907/2006  of the European P arliament and of the C ounc il of 18  December 2006 . REA C H
A uthorization lis t –  A nnex XIV, the Res tric tion lis t –  A nnex XV I I  and the SV HC  candidate lis t

Program operator and publisher P hone:

T he Norwegian EP D Foundation

P os t Box 5250  Majors tuen, 0303  O s lo e-mail:

0303  O s lo Norway web:

+47 23 08 80 00

post@epd-norge.no 
www.epd-norge.no

Owner of the declaration P hone: +47  33  45  70  00

Jotun A /S Fax:
Hys tadveien 167 e-mail: anne.lill.gade@jotun.no

3209  Sandefjord web: www.jotun.no

Author of the Life Cycle Assessment P hone: +47 69 35 11 00
Ø s tfoldforskning A S Fax: +47 69 34 24 94
Stadion 4 e-mail:

1671  Kråkerøy web: www.ostfoldforskning.no
Developer of EPD generator P hone: +47 916 50 916
LC A .no A S

Dokka 1C e-mail: post@lca.no
1671  Kråkerøy web: www.lca.no

 8 / 8

 
 
NEPD-2298-1049-EN Fenomastic Wonderwall Life, El-Mohandes Jotun S.A.E




